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1 405 900 BO KA EAEES =2
2 401 9’01 kAR 5 tEAEES =2
3 402 9’01 = EARES =2
4 406 9’02 NITIR- N EARES =2
5 409 9’02 Fin &k {EA EBIE =2
6 407 9’02 A+ B A EEIE =2
7 404 9’02 Ng & EARES =2
8 403 9’03 alll JEtE EARES =2
9 414 9’20 EHR IR tEAEBED =3
10 410 933 R fixE uTC -
11 416 942 BT &% tEEE =3
12 412 9’52 2 B EARES =2
13 411 10 ' 07 #}BARK —0 (EAEBS =)
14 417 10’31 £F FX tEEE =2
15 408 DNS Al MEA tEARES =2
16 413 DNS EE  pEs) tEARES =2
17 415 DNS =)l fEX BRILITPER -
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1 420 9’21 ¥E Kl uTC -
2 424 9726 BA X AfES =2
3 430 9’27 INITRE =5 N IREST 2 -
4 422 9’35 = EA THAS =1
5 418 9’37 T G2 RS =
6 426 9’38 W R EARES =1
7 428 9’38 IR BE EARES =3
8 423 9'54 =2A EX +rHEAES =1
9 425 10’00 A BEK EARES =1
10 433 10’01 iE K FREER =
11 432 10 ' 06 KR B2 uTC -
12 427 10’09 H & EARES =1
13 431 1043 B F[FE ENKFE -
14 419 DNS R KZE AfES =2
15 421 DNS BERR KA tHEAES =
16 429 DNS AN B¥ EARES =
17 434 DNS TE EiR FPREER =3




1 435 848 fERAR B EAEBES =2
2 439 848 B KA EARRES =
3 436 8’58 & ME EARRES =2
4 440 9’04 NITIE =Y EARES =2
5 443 9’05 i 8K EARRS =
6 441 9’08 A B EAEES =2
7 450 910 IRA AKX tEAEBEE =1
8 446 910 BH OR® EARES =1
9 438 917 INZ  #hE (EA EHo= =>
10 449 9’19 B8 EAEES =1
11 444 9’28 ke EEtE EAEES =1
12 445 9’28 o AE HEARRES =1
13 447 9’39 IR & A RS =1
14 448 9’46 DI[1:E I R EARES =1
15 437 DNF alll &t EAERES =2
16 442 DNS Ml MEA EARRES =

1 451 9’50 M e EARES =1
2 452 10’05 Bt SE EARES =
3 461 10 ' 08 NEL A uTC -
4 458 1012 HIR fHE A TFERS -
5 454 10 14 ®AF BE UTC -
6 455 10’22 V=V \l- PN - -
7 459 10 ' 23 R IE3R abESTZ -
8 457 10 ' 26 Bl #i A TRIER -
9 456 10’27 Al W& EAEHRES =1
10 465 10 ' 49 R #— UTC -
11 464 10’58 R & PR AR =1
12 466 1127 /N IEBR - -
13 460 12721 S -
14 453 DNS IR BE EARES =1
15 462 DNS R =88 BHIZJ -
16 463 DNS mE Ha - -




1 470 9’06 RA ABX EARES =1
2 473 9’14 BH OR® EARES =1
3 476 918 BS @ EARES =1
4 471 9’20 R S EARES =1
5 472 9726 WA EARES =1
6 474 9’34 TR & EARES =1
7 468 9’37 = i N EARES =5
8 475 10’00 hoRE &N EARES =1
9 467 10 ' 02 BA —i A EEs =>
10 478 1017 BAR B FHES =1
11 479 10 ' 37 thit  —HE TS =1
12 477 12726 fKEH R - -

13 469 DNS b= NI 1E2 BB =>
14 480 DNS it BE A EEE =

15 481 DNS ey B&K A EBE =1

1 483 11’04 W RS SAKUEL -
2 482 11743 2R =% LHRTFHER =1
3 488 12724 =E A BIFROFRMEERRC -
4 486 15’04 =RE & - -
5 487 16713 Ml F= BIERDOFRMERRC -
6 484 DNS B a—Ep BHI7J -
7 485 DNS BE # HEFRS C -




